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Ex2_V1dlgdl LSy csle wldosll :Q.1

1/1 :dol=l|
Given that f(x) = x2 + 5x + 6 and f(x) = x2 +5x + 6 of pa
gx) = x+2, find (f — g)(x). (f=-g)x) agdcglx) =x+2




1/1 :dolall

The work, in joules, required to

stretch a certain spring a distance

of 5 cm beyond its natural length
528

of 8 cm by fo =it dx. How much

work is required?

()
F'l.
Al
-

EX2_V1 Gasks JolSill dpanlaodl] dy,bi)l placinl 1Q.2

O Gl waall Jgalls cugllaal) Jald) saady
8 cm alu 3 auhl) dlgh (e 5 cm 4Bl
. " 528
Coglhall Jadd) jaia Le .fo =X dx : Ny



Ex2_V1 aiwSell wlaiiell :Q.3

1/1 :dolsll
Find all antiderivatives of the function A)alt Lockal) cliidal) J< sl
f(x) = 12x° + 9x% — 4x. J(x) =12x° + 9x* —4x

i
@ giﬁ): 1‘1}(5—}4?&—“‘[1

e —

< 3 =

= 3 L
(:,;( L 3N —nl"}(./-la

= |




Ex2_Vl1é&salholl Sg.aidll pusll :Q.4

1/1 zdo)Msll
- coordinates of the Aljall Adlaal) (§9.mBY) Aasdl) ldlaa) sas
'mum of the function Ol 13 La SHy f(x) = 2(x —3)2 + 5

3)2 + 5 and state
1 maximum or

( '/I,') g) et _3_J,Q_%) ":1/_{1:'_9

/_,( I A WAL WN



Ex2_V1dleal S, Q.5
1/1 :doMall X2_V1dlgal 5,5 :Q

¥fix)= Vax, find g(x) so that Guay g(x) 29l f(x) = Vax o\s1y
[f - g](x) = |6x]. Af o gl(x) = |6x]| Qs

ET- v f_-_é;;‘x = IH"::“‘L\" N l1'.’r5:|1m"':';J
b | - |
¢ 5
y o)== 397
—H P
(e n >
Bicx) = H A



Ex2 Vl1a i als alpi :Q.6
1/1 :doll=ll X2 Vlap o als alpi 1Q

Find the value lim —*—> Jim —=32 dasd aagf

x—2 2x2—x-15 x—>2 2x2-x-15




Ex2_V1 2l Ja=e :Q.7

0/1 :dol=ll
age rate of change of Al adl) Jare Jacgia aagl
g(x) = 3x%2 —8x+ 2 g(x) =3x* —8x+2
1 [0,2]. [0,2] 8ran A
= - b N = (E'E ~ RY
= & § 8 +2)
T -0
CORSN t)
= (?:(‘1_)1—-%(?-)*'1—) =3
—— ________-—-—ﬁ_'__-
s 5

W

gaoz -2

L



1/1 :dalnll

Find the inverse of f(x) = 2Vx + 3.

—

A = 2N D
[%J LD

[..."___3;;‘{'1'
y = 1@"&#3
TP
i AN
y :gr\r_:.ﬂ
(.,,_ -3 1
"’“"’Lf 1
A (""3
S
Ly =
-
e p S
Sl =

Ex2_V1aJll ugSso Q.8

S(X) = 20X + 3 uglaa 22



Ex2_V1 alluJl asie 1Q.9

1/1 :dol=ll
Find the derivative of Atal) AFida aagl
() = (3x* + 2x) (5 — 3x). J(x) = Bxt+2x) (5 — 3x)

(:5 @('.-1)': S A

L



Ex2 V1 abs; ssecaws als alps :Q.10

x— 25 x-25 .

Find the value lim —— Jdim —— das aagl

x—-25 w/_- x—>25 'f_




1/1 :dol=ll

Find the slope of the line tangent to
the graph of function if y = x? + 4
at the point (-2, 8).

Ex2_V1 alii e gwlonll Jao Q.11

O Adal Sadad Guleall Jae aagl
(—2,8) da) sey = x2 + 4



Ex2_V1 ML alls & Q12
1/1 :dol=ll x2_V1 ayleiMl xicéu s als &lps 1Q

~ Suppose the width in millimeters of Qo (e 515 s alag) LiSas a5 yin 8)
an animal’s pupil is given b __ 152x7 045485 . ~
pupfis s y (d(X) = = Toap o Aaial el

d __ 152x7 945485 h is th 25 Sat ok e .
(x)—m,w ere x 1Is e #ﬁgﬁ&hu\g‘}q&\a;m‘ﬁx&?

illuminance of the light shining on 55 e dagl .Sl Linda Gleal) Cpe
AN aal) gedal) Ay Ladie Glgall G

LBelaiodu

the pupils measured in lux. Find the
width of the animal’s pupils when the

light is at its minimum illuminance.

o,
3
3
Ra
-
O
)
|3
r~
{
o2



5\

=

_—

©

1/1 :dollnl]

Consider the graph of y = f(x)
shown. What is the litzqr f(x)?
X

Ex2 V1 (sily pow) oo @laii sscaanws als algs 1Q.13

dah Lo .quiagall y = fX) aie Jali

o
5

"l £
YA
f(x)
iI/2¥
A /""

[ ]

x ¥




Ex2_V1 JolS:l dpwlaoV &,k plazs.wl 1Q.14
1/1 :dslsll V1 Jo G ay,baill plaziwl :Q

Evaluate the integral | 12 (4x + 6x%) dx. flz (4x + 6x2) dx Ja\sil) dass 2a g



1/1 :ao)=ll

2 __
Find the value lim &*—=.
x——o00 3x3+1

Ex2_V1 alg Wl suca s alls &lgs :Q.15

6xZ—x

. lim

Lui A, i
x——oo 3x3+1 - >3
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